HHS50 Portable Space Heater UT-65043 - Exploded View




Ref# Part#

1
2
3

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35

36

37

0052944
0052959
0052940
0053006
0052919
0052918
0052950
0053005
0052933
0052954
0052956
0052932
0052935
0052955
0052953
0052920
0052921
0052925
0052928
0052929
0052926
0052924
0052909
0052922
0052948
0052927
0052936
0052947
0052946
0052949
0052942
0052943
0052914
0052960
0052930
0052951
0052931
0053008
0052941
0053007
0052939

Description
HANDLE
UPPER SHELL
COMBUSTION CHAMBER (HH35)
COMBUSTION CHAMBER (HH50)
BRACKET- Photocell
PHOTOCELL ASSEMBLY
NOZZLE (HH35)
NOZZLE (HH50)
SPARK PLUG
ADAPTER- Nozzle
BRACKET
NUT- 14mm
FAN
MOTOR
BODY- Pump
INSERT
ROTOR
COVER- End pump
FILTER- Lint
FILTER- Intake
FILTER- End cover
SCREW- Adjusting
SPRING- Pressure relief
PLUG
BALL- Steel 1/4" dia.
FILTER- Output
ELBOW- 90
BLADE
FAN GUARD
NUT- Hex lock
COVER- Side
BRACKET- Motor
NUT- Clip
SHELL- Lower
RUBBER AIRLINE
IGNITOR
FUEL LINE (HH35)
FUEL LINE (HH50)
FUEL FILER ASSY. (HH35)
FUEL FILTER ASSY. (HH50)
SAFETY CONTROL

Qty Context Note
1

e e e e e e ) W e T e T N TR S N e S R N e e T e e T e T s T S e S R O S R S S



Ref# Part# Description Qty Context Note

38 0052958 FUEL CAP (Incudes gasket) 1
39 0052957 FUEL TANK

40 0052945 HEAT-SHELL SHIELD

41 0052952 IGNITOR CABLE ASSEMBLY

42 A0052962 POWER CORD ASSY.

43 0052913 BUSHING- Strain relief

44 0052966 DECAL- Warning

45 A0052963 RUBBER BUSHING & BUMPER KIT
46 0052965 DECAL- General Info. (HH35)
0053011 DECAL- General Info. (HH50)

47 SCREW-#10-16 x 1/2

48 SCREW- #6-32 x 3/8

49 SCREW- #10-16 x 3/8

50 SCREW-#10-32x 1

51 SCREW- #10-32 x 1/4

52 SCREW- Grounding #8 x 14

53 SCREW- Handle, hex washer #10 x 3/4
0052903 HANG-UP THERMOSTAT
0052904 WHEEL KIT - heavy duty
0052905 WHEEL KIT - standard

et e ek e e pd e ek e e ek e e ek e e e e e

0052902 AIR GAUGE KIT



RESET
BUTTON

HHS50 Portable Space Heater UT-65043 - Wiring Diagram

WHITE

WHITE

SAFETY
CONTROL B
W
WHITE
POWER
PLUG
— GREEN
-ﬁ——hu
L
120V
60 HZ

BLACK

"BLUE

T

SPARK PLUG
RED

RED

MOTOR
GREEN

Rendered by LeadVenture, Inc.



